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1.  ���
������������������	
����������� 

 1.1  �����	
 (acetone) 
 1.2  �����
 (hexane) 
 1.3  �����
�	���
  
 1.4  !"�	��#�$%���&��' (Petroleum ether) 
 1.5  �.�&����$%��/�����/' (KOH) �34%34
 5 �!��'��5
	'  
 6789�.�&����$%��/�����/'%: 5 ��7% �	;%��&<;#��#����#' 100 �!��'��5
	' #9

!��%:> 80 %;##;#;	� @
�
#�#:$A%/ �#4B�	;%��#����#'�
!�;%:	�@�C 100 %;##;#;	� 
 

2. ���
�����������	
������������ 

 2.1  ��/�7#DE�;� (H2SO4) �34%34
 93H98 �!��'��5
	' 
                   2.2  �:���I9�B% (catalyst mixture)  

 6789@�!�!��'�7#�D	 (CuSO4) 7 ��7% �7C�!�	����$%�7#�D	 (K2SO4) 100 ��7% 
O�%PA4�34:�7
 
                   2.3  ���/�$%��/�����/' 45 �!��'��5
	' (NaOH)  

 #�#:$ 450 ��7% 3�9���/�$%��/�����/' 6
;/��#5/#9P

RS:�#78
PA4�/4!�;%:	�   
1 #;	� 

 2.4  �:�#�#:$��/��#T� 0.1 
��'%7# 
  #�#:$��/��#T� 9 %;##;#;	� #9P

RS:�#78
 !�7C!�;%:	�PA4�/4 1 #;	� 

                   2.5  ��/C��;� (H3BO3) 4  �!��'��5
	'  
      	4%
RS:�#78
 50 %;##;#;	� PA4�4�
 �#4BP�IO9��/C��;�#9�! 4 ��7% 	4%�
#�#:$A%/

&;R9�B4�
�:�#�#:$�$5
#9 �#4B�V9�	;%
RS:�#78
PA4@�C 100 %;##;#;	� 
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         2.6  �;
/;�@�	��'O�% 
         #�#:$�%&<;#��/ 0.2 ��7% P
��#����#' 95 �!��'��5
	' !�7C!�;%:	�PA4�/4 100 

%;##;#;	� �#�#�#:$�%&<;#�
C#E 0.2 ��7% P
��#����#' 95 �!��'��5
	' !�7C!�;%:	�PA4�/4 100 
%;##;#;	� �:�
7R

S:�:�#�#:$�%&<;#��/ 2 �IB
 O�%�7C�:�#�#:$�%&<;#�
C#E 1 �IB
 �3$I:PA4�34:
�7
 

 2.7  �%&&;#����
�'�;
/;�@�	��' (methyl orange indicator) 
      #�#:$�%&&;#����
�' 0.1 ��7% P

RS:�#78
 !�7C!�;%:	�PA4�/4 100 %;##;#;	� 

                   2.8  �:�#�#:$���/�$%@:�'C��
	 (Na2CO3) 0.1 
��'%7#  
      �C���/�$%@:�'C��
	&�8�Z>A[E%; 260H270 �9\:��#���$� �!]
�B#: 30 
:&� B:9

&;R9PA4�$5
P
�^/E/@B:%6TR
 �#�6789�:�%: 1.325 ��7% �	;%
RS:�#78
!��%:> 100 %;##;#;	� @
PA4
#�#:$�
A%/�#4B !�7C!�;%:	�PA4�/4 250 %;##;#;	� P
3B/B7/!�;%:	� 
 
3.  ���
�����������	
������!"��� 

 3.1  @#���D��'% (chloroform) 
 3.2  �%&<:
�# (methanol) 
 

4.  ���
����������
�$�
�%&��'() 

 4.1  �:�#�#:$&�;!�.
C#E (Trypan blue) 0.15 �!��'��5
	' 
 #�#:$&�;!�.
C#E 0.15 ��7% P
�:�#�#:$��#T� (NaCl) 2.5 �!��'��5
	' 100 
%;##;#;	� @
PA4#�#:$�/$B:9C
 magnetic stirrer 
:
 6-12 678B�%9 �#����9OI:
���/:d���9
�C��' 1 �CI9P�IA#�/.#:�	;�A#�/#� 0.45 %;##;#;	� 
 

5. ���
�����������	
�������	+����"&)
&�!,��-.�&�&&�,	
��  
5.1  K-199 100  %;##;#;	� !����C/4B$ 

       M-199  50  %;##;#;	� 
       Hepes  0.238  ��7% 
       MgCl2.6H2O 0.33  ��7% 
       MgSO4.7H2O 0.3  ��7% 
       NaH2PO4           0.005  ��7% 
       NaCl  1.1  ��7% 
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       CaCl2.2H2O 0.09  ��7% 
       L-glutamine 1   %;##;#;	� 
 �	;%
RS:&�8OI:
�:����93�7/�;��
 (deionized) �
@�C 100 %;##;#;	� !�7C.���6PA4

�/4 7.6 ���9/4B$���/:d���93
:/ 0.22 �%�@��%	� ��5C�B4P
	E4�$5
 
                   5.2  �:�#�#:$��#�;�&���
 3 �!��'��5
	' (L-cysteine) (�	��$%�I�
P64P
�	I#�@�7R9)        
 #�#:$ L-cysteine 30 ��7% P
�:�#�#:$ K-199 !�;%:	� 100 %;##;#;	� !�7C.���6
PA4�!]
 7.4 ���9OI:
�%%�C�
&�8%���4
OI:\E
$'�#:9�E3
:/ 0.22 �%�@��%	� P�I3B/��5C�B4&�8 4 
�9\:��#���$�  
                  5.3  �:�#�#:$D���D	C7D�D��' (PBS) .���6  7.4  

 #�#:$ NaCl 8.0 ��7%  KCl 0.2 ��7% Na2HPO4 1.44 ��7% �#� KH2PO4 0.24 ��7% 
P

RS:�#78
 900 %;##;#;	� !�7C.���6PA4�/4 7.4 /4B$�:�#�#:$ NaOH �#4B!�7C!�;%:	�/4B$
RS:���9
3�7/�;��
PA4@�C 1 #;	� 
V89hI:�6TR�&�8�Z>A[E%; 121 �9\:��#���$� 
:
 30 
:&� 
                    5.4  �:�#�#:$@:�@/��#&C7D�D��' (CAC buffer) .���6 7.0  

 #�#:$ C2H6AsNaO2.3H2O (Cacodylic acid sodium salt trihydrate) 1.07 ��7% 
P

RS: deionized !#�/�6TR� 500 %;##;#;	� �	;% CaCl 0.37 ��7% !jk
PA4#�#:$�#4B�V9�	;% MgCl2 
5.08 ��7% !�7C.���6�!]
 7.0 !�7C!�;%:	�PA4@�C 1,000 %;##;#;	� P�I3B/��5C&�8 4 �9\:��#���$� 
 5.5  �:�#�#:$&�;!�;
 (Trypsin)  0.001 %;##;��7%/%;##;#;	� 

 #�#:$  trypsin (1:250) 0.001 ��7%P
�:�#�#:$@:�@/��#&C7D�D��' 1 %;##;#;	� 
 5.6  L-DOPA 0.003 %;##;��7%/%;##;#;	�   

 #�#:$ L-3,4-dihydroxyphenylalanine 0.003 ��7% P
�:�#�#:$@:�'�@/��#& 
C7D�D��' 1 %;##;#;	� 
 5.7  �:�#�#:$�D#;
 (Folin reagent) 1:11 

 ��T��:9�:�#�#:$ folin /4B$
RS:���93�7/�;��
P
�7	�: folin 1 �IB
	I�
RS: 10 �IB
 
O�%PA4�34:�7
 P�I3B/ ��5C&�8 4 �9\:��#���$� 

 5.8  �:�#�#:$�7#@:�#
'@�!�!��' (Alkaline copper solution)  
1.  #�#:$  CuSO4. 5H2O 0.5 ��7% P

RS:���93�7/�;��
 100 %;##;#;	�  
2.  #�#:$ Na-K- tatrate  1 ��7% P

RS:���93�7/�;��
100 %;##;#;	� 
3.  #�#:$ Na2CO3 1 ��7% P
�:�#�#:$ NaOH 0.5 
��'%7# 100 %;##;#;	� 

 O�%�:�#�#:$P
34� 1, 2 �#� 3 P
�7	�:�IB
 1: 1: 50  PA4�34:�7
/��I�
P64  
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 5.9  �:�#�#:$�CB�
���7%��#CE%;
 (BSA) %:	�r:
 
 #�#:$ bovine serum albumin 1.0 %;##;��7% P

RS:���93�7/�;��
 10 %;##;#;	� 

�#���T��:9�:�#�#:$34:9	4
/4B$
RS:���93�7/�;��
P
A#�/&/#�9PA4%�@B:%�34%34
 10-100 
�%�@���7%	I�%;##;#;	�  
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1.  ����

��������
�������������������������� ! (Chien and Jeng, 1992) 
     1.1  �����	
���
���
���������
��	��	������ (Freeze-dry) ��#$
��	
���
���
�%
�&�	 '(
�����)����&*�
%�� +�	�
���,�����)����&*�
%�� 
 1.2  .�$
�/��������#/
���
�,#

���,0,*��1 1-2 �,�� )���(��/�������%$.�$
2�� �&�	
����+�3	�,40.�54�3��� 125 �7&&7&7�, ��7��/���&����
��5#$
�����#/
���
2��8�9
,	��0:���
��&*

���,���� �&�	��7�
*;7<�� (acetone) &
�%&*��
� ������3������7/
2	�+���,4��5#$
���+�,&*&��
���.�/�'���*�
� �&�	�4�+�,&*&��

��+��,*)
��	
 �����,+���;/��'�2��5)+%&*&��


���  

 1.3  ��+�,&*&���%$2����8C���& (Funnel) ��7�0F<�,�&%��
%��
,G������)
0,7���,3


*;7<���%$2�� �&�	��7��/���&�$�'��,*��$
+�,&*&�����.�/� 23�/���7/
 ���;/�� 3-5 �,�/
  

 1.4  ���+�,&*&��+�	�)���	��0,7���,��	��,*)
��	
 )���(�0,7���,�%$2�� 
�&�	�,

+�,&*&��)�
+�	���	�+��&% ���+�,&*&���%$2��20	������4��&#��+
�))+����&*
����	1��0,7��1��<,�%�
��G��
20 <���������4��&#��+
�%$2��������	1��0,7��1          
��<,�%�
��G<���.�+���,����&��
 
              A%

1cm=2500 (Sommer, 1992) 
 �&*������<���7�'����<,�%�
��G 1 �,�� ��0F<�,�&%��
%��
,G 100 �7&&7&7�, 

'*�%����4��&#��+
������) 2500 ��#$
����4��&#��+
�%���������) 0.2500 �+�
	���%��<,�%�
��G
��0F<�,�&%��
%��
,G������) 1 2�<�,�,��/ �7&&7&7�,  

 ��#$
	������4��&#��+
������) 0.524 �+�
	���%��<,�%�
��G������)  
1 x 0.524 = 2.096 2�<�,�,��/ �7&&7&7�, 
 

��
��/���#$
�.�0F<�,�&%��
%��
,G 25 �7&&7&7�, +�����	
���
 0.05 �,�� '*2��0,7��1��<,�%�
��G
������) 25x2.096 �5,�*T*��/�0,7��1��<,�%�
��G�%���������) 52.4  2�<�,�,��/�,��  

 �������� A%
1cm = 2500 ����U(
 ��,	������4��&#��+
2��������) 2500 <��

�.� light path 1 �;��7���, ;($
�0:���,)�
.%/	��+�,��/��%�	���3��3��3

��<,�%�
��G������) 1 
�0
,G�;���G 

 
 

250 
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2.  ����0��!�������1��!
���	�!��������20���3�!�� !2���
����2�4��	�! AOAC 
(1990)  

 
2.1  ����

����������89:�  
        ���U�	��,*�)#/

�3���4�
)
�1�Z4�7 100 

[��;&�;%�+ �0:��	&� 40 ���% �&*
����������<��<U�4��	��.#/� .�$
�&*)���(��/������3

U�	��,*�)#/

<��&*�
%�� .�$
�/�������+�
3	�0,*��1 1 �,�� �&*)���(��/������ �����	
���
�3���4�
)<���.�
�1�Z4�7 100 

[��;&�;%�+ 
�0:��	&� 8 .�$	<�
 �����	
���
�%$
)�&�	�+�<U�4��	��.#/��7/
2	�������� �&�	)���(��/������3


��	
���
 ���;/�����3�/��
�3��
��� '��,*��$
�/�������%$2���
�%$ <���/�������%$���20�#
�/������
3

�	��.#/� ����	1���	��.#/���	�+���,  
 
              �	��.#/� (%) = (a-b) x 100 
                                    w 
       ��#$
  a = �/������3

��	
���
��
�
)���
 
                b = �/������3

��	
���
�&�

)���
 
 w = �/������3

��	
���
��
�
)���
 
 
2.2  ����

��������
���
; �  
        .�$
�/��������	
���
 1 �,�� �+���U�	��,*�)#/

��&#
) ���20�_�������_��%$

�1�Z4�7 600 

[��;&�;%�+ �0:��	&� 3 .�$	<�
 '��U���0:�+%3�	 �&�	����3��<U�4��	��.#/� 
��#$
��	
���
�����%�&�	 ���

�.�$
����%��	���,#$

.�$
 4 �������
 ����	���0,7��1�U����	�
+���,  
 
             �U�� (%)    = (b-a)  x 100  
           c 
            ��#$
  a = �/������3

U�	��,*�)#/

��&#
) 
             b = �/������3

U�	��,*�)#/

��&#
)��)�/������3

��	
���
�&�
��,�_� 

c = �/������3

��	
���
��
���,�_� 
 

2.3  ����

�����������2��  
             .�$
��	
���
���
�%$)�&*�
%����3�
 1 ���2���/������ 0.3 �,�� ��	��,*��`�,

�%$
0,�['��+�,2�<�,�'� �&�	�+����&
����	<0,�%� ��7�+�,�,�
,	� 3 �,�� �5#$
�0:���,.�	��,�

0a7�7,7����,��
� ��7��,�;�&84,7��3��3�� 15  �7&&7&7�, ���20��
���	�.����,#$

��
�<0,�%�     
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�%$
�1�Z4�7 375 

[��;&�;%�+ '��,*��$
+�,&*&���0:�+%�3%�	�+ �7/
2	�������� �&�
'����/���7�
�/���&�$�0,7���, 20 �7&&7&7�, �+�&4����	 2 &4� �5#$
09

�����,�,*����3

+�,&*&�� ��7�
<;��%��2c�,
�2;�G&
���&
����	.��d '��,*��$
+�,&*&���%+%��� ��7��,�)
,7� 40 �7&&7&7�, 
��3	�,40.�54� ���
7��7����
,G,	����,�)
,7� 2-3 ��� �����,�&�$�'��,*��$
2���%��e+
�
�<���%�

��� �����,�&�$���
20
%� 10 ���% �&�	&��
0&����,#$

�&�$���	��/���&�$� ���3	�
0����)	��0,7���,

�'����,#$

�&�$� 2���,���	�+�,&*&���,���&#
���,f���%$�%�	��
�3��3�� 0.1 �
,G��& '�U(
'�����7+�,&*&��'*�0&%$���0:�+%�/���
7�
�
� )���(�0,7���,3

�,�
��&#
 �5#$
�.�����	1��
20<���.�+���, 
 
 <0,�%� (%)  = 1.4 x (V1-V2) x N x 6.25 
                                            W 
            ��#$
  V1 = 0,7���,3

�,����,f���%$�.�2���,���	
���
 

V2 = 0,7���,3

�,����,f���%$�.�2���,���	
���
�%$�.��,	'+
) 
N  = �	���3��3��3

�,���&#
�0:��
,G��& 

       W = �/��������	
���
 
 
 ���������
	 �	 �	�!=����������
��9���2�4�� 

 �4�+�,&*&��<;��%����,G)
��� 40 �7&&7&7�, �+���3	�,40.�54� 3��� 250 
�7&&7&7�, ��7��/���&�$� 20 �7&&7&7�, ��7�����7&

�,�'G
7��7����
,G 2j3 ��� �����,2���,�
��	�+�,&*&���,���&#
 0.1 �
,G��& ����	1�	���3��3��3

+�,&*&���,���&#
<���.�+4�, 

 N1 V1  =  N2 V2 

 
  2.4  ����

������?	�0�����8 
��9@�! Soxtec System HT6 (AOAC, 1990) 
                
)U�	�5,�
���	�&4����	�%$�.�	7��,�*�G23����%$
�1�Z4�7 100 

[��;&�;%�+ 
��� 8 .�$	<�
 �7/
2	����������<U�4��	��.#/� 
)��	
���
�%$'*	7��,�*�G�%$
�1�Z4�7 65          


[��;&�;%�+ �0:��	&� 1 �#� �7/
���������<U�4��	��.#/� .�$
�/������U�	�5,�
�&4����	 (W1) 
.�$
��	
���
�%$��

��,	7��,�*�G�+��,*��`�,

�)
,G 1 0,*��1 1-2 �,�� (W2) ��
����7�.7�    
�+�&
��2+��,

 (thimble) �%$��,%��2	����20�+��3����,#$

	7��,�*�G ���U�	�5,�
�&4����	�%$.�$

�/������2	��&�	����7�+�,&*&���%$�%+�	�_+�,*�	��
�&
<,8
,G��&*���k��
&��
��,�+�	� 
2:1 0,7���, 25  �7&&7&7�, ����%$
�1�Z4�7 181 

[��;&�;%�+ �����#
� 30 ���% '����/�&��

��	
���
 20 ���% ,*���+�,�%$��&#
 5 ���% ���U�	��3����,#$


)�%$
�1�Z4�7 135 

[��;&�;%�+ 
�0:��	&� 2 .�$	<�
 �&�	���U�	�

����+�<U
)���
 �7/
2	���������&�	�����.�$
�/������ (W3) 
����	1��0,7��123�����	�+���,  
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      23��� (%)  = W3-W1 x 100 
                                    W2  
 
 ��#$
  W1 = �/������U�	�5,�
�&4����	 
      W2 = �/��������	
���
 
       W3 = �/������U�	�5,�
�&4����	�&*23����&�

) 
 
3.   ����

�������!�������1
�9�� 
 
3.1  ����01��
���
�L�
�9���0:!��� (�
M��� ��� =
��
, 2538) 

 �.��,*)
�T%���3��� 1 �7&&7&7�, �&*�3��T%���3��� 24 G �	����	 12 
�7&&7���, �'�*�&#
����
�%$<��3���7��4��%$ 3 ���2��0,*��1 0.2 �7&&7&7�, �.�0F�0�0,�)0,7���,

��<����7�4��&#
� 50 2�<�,&7�, _+���)+�,&*&���,70�5�)&4 0.45 �7&&7&7�, ����3�������
�&
�5&�+�7���)�;&&G�����&#
���/
���<���.�c%��2;<��7��
,G (haemacytometer) Z�����
�&�

'�&�,,[�G �&�	����	1�0:� �;&&G��
�7&&7&7�,'��+4�, 

 
0,7���,3

c%��2;<��7��
,G  =  �	��
x��	x+4
 

    =  1��. x 1��. x 0.1��.   
    =  0.1 &4�)�[�G�7&&7���, (��3) 

'���	��;&&G�����&#
�/&4�)�[�G�7&&7���, =  �;&&G�����&#
��%$��)2�� 

'���	��;&&G�����&#
�/ �7&&7&7�,  =  �;&&G�����&#
��%$��)2�� x 104  
 

3.2  ����

�������
M����	�!
��?P��QR������P

�= (�
M��� ��� ���, 2543) 

  �.��,*)
�T%���3��� 1 �7&&7&7�, �&*�3��T%���3��� 24 G �	����	 12 
�7&&7���, �4�+�,&*&���
&;7+�%
%� (L-cysteine) 0.2 �7&&7&7�, �'�*�&#
����
�%$<��3���7��4��%$ 3 
���2��0,*��1 0.5 �7&&7&7�, _+�����3��������&
�5&�+�7�<���.�0F�0�
��<����7�4�3(/�&
�)�d 
���20������	%$�
�%$ 3,590xg 
�1�Z4�7 4 

[��;&�;%�+ ��� 2 ���% &��
�;&&G�����&#
���	�
+�,&*&�� K-199 0,7���, 1 �7&&7&7�, 2 �,�/
 �&�	��7�+�,&*&����,G<��%�&�)�8�8
,G      
(CAC buffer) 1 �7&&7&7�, _+�����3����� ���)��2�<�,�'���&	����;&&G�����&#
��%$2����������
�;&&G���<���.���,#$


�&�,��<;�7�+G c
<�'72�;G�;
,G �%$�
�5&7'4� (amplitude) ,*��) 30 �0:�
�	&� 20 	7���% ���20������	%$�
�%$ 8,497xg 
�1�Z4�7 4 

[��;&�;%�+ ��� 10 ���% ���+�	��+ 
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(HLS) ��	7��,�*�G����% <����7�+�,&*&���,70;7� (trypsin) 0.2 �7&&7&7�, ���&
���&


3��� 5 �7&&7&7�, ��7� HLS 0.2 �7&&7&7�, '����/���7�+�,&*&�� L-DOPA 0.2 �7&&7&7�, _+����
�3����� ��/
2	� 2 ���% '(
��7�+�,&*&�� CAC buffer 1.8 �7&&7&7�, ��/
�����7�0a7�7,7�� 2 ���% 
���20	�������,�4��&#��+
�%$�	����	�&#$� 490 ��<����, )���(������,�4��&#��+
�%$
�0&%$���0&
��� 2 ���% '��,*��$
���&�&
 +���,�)�&
��%$�0:���	��%�) (blank)�.�+�,&*&�� 
CAC buffer 0.2 �7&&7&7�, �����	
���
 ����	1����7'�,,�3

�
�2;�G8x�
&

�;7��+2��'��
+���, 

  
�7'�,,�3

�
�2;�G8x�
&

�;7��+    =       �4�7�/���% (0.001)* 

         <0,�%��� HLS 0.2 �7&&7&7�, 

          =   �4�7�/���%/�7&&7�,��<0,�%� 

<�� * 0.001 �0:�����%$�������

 

  �4�7� (unit) ����U(
 �	��+���,U3

�
�2;�G8x�
&

�;7��+����,�0&%$�� 
L-DOPA 20�0:�<�0��%� (dopamine) <��	��'�������,�4��&#��+
�%$�0&%$���0&
Z�����	&� 
1 ���%  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 




